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Note: This question paper contains two pafts A and B. IVIax' Marks: 7s
"'.'-: "" Pant A is compulsory which carrie-s zs ma*s. Answerall questions;.in-.part A.,.part:.*,'-"'. ''--',' ootisiits of 5 units:'Answer;rt ;;;':rr;;qu.riio,, ftoin each ,,lli. L*r, question carries t0marks and may have a, b, c as *U qrrrtio*. 
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PART - A

(25 Marks)

p9fine ascending no<Je and argumenl of perigee.
List various frequency railges used for.ir.rtit. conrmunicarion. 

[3iAn amplifier has a quor.ed noise figure of j dB. il;; i;'i;.iriror.n, n.ise rernperarure?

What are the advantages of CpS system? {21

l3lWhat is satellite packet switching?
Compare'fDMA and FDMA. t2)
what are the various signars rransmitted by Gps saterites? t3l
Wliat are the fearuies oicps: -'-: ' ."-.--:-: lzl
L-ist out the advantages aJu oir*oruntages in positioning satelrite in rower orbit. 

t31,

Describe the pure ALOHA schenre. - 
[r]

PART. B

(50 Marks)
ExRIail-various reasons for orbital perturbation rvhich effects the satellite communicationi ,

n il01''
Describe ceosrationary '] ransrbr oro,, rSoXKM 

'virh 
near diagr.arns. 

L

Describe ceostationary Transfer orbit with slow,orbit ,..iri.g'r"irr'r neat cliagrams.[5-r5]

l.a)
b)
c)

d)
e)

r)

s)
h)-. i)

i)

:'-"..1,

3.a)
b)

4. Explain about Attitude and orbit contror system in detair.

'5. Exflain system noise temperature ano cfiratio in detaiL

Ir 0]

6' 
:,Hi:[#:ious 

phenornena that ieads to signai loss on rra,snrission rhrough the earlh,s

oR [to]
7'?) Explain TDMA and its fiame structure with neat diagrams.b) wfat 9-p the diffe'ent types of demand $rign*rniH,itip-ie Access characreristics?[5+5]
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8.

' '.9.

l0.a)
b)

11.

Draw the
Working.

:"..,,:l t..,..._-.

transmitter and receiver block diagrarns of an earth station and

OR

---oo0oo---

explain

I l0]

ll 0l

[5*51

Is+s].

its

{frat,ii-e eS? DesCribe the principle of 6PS to find the position of a user,

Define Packet and explain in detail about Packet Reservation'

f)iscuss message transinission by FDMA'
OR

Write short notes on:

a) Message transmission bY TDMA'
b)'Tree algorithm:
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